i:
[GeV
o
w

1/Ncdot di/dM
o
N
o)

o
o
N

0.015

0.01

0.005

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
oL I I L I BN B o
— 1o
— Jet Mass (anti-kT(l.O), pT>3OO, n| < 2.0) 132
B 1=
~  m ATLAS 3
- --3-- Herwig 7.2.0 default —N
— —4— Pythia 8.170 default 1<
= ¢ Sherpa 2.2.5 default |
- 12
- —x
— —©
L —4 ™M

<
L — ™M
u o
o
L — M
—i
— =
- mEs
- .8
— -1
(&)
B <
I 1o
— Hc
)
- gk
— 12
| | ©
] |
— =2
u o N
= BT e .
F T aoaag _Q’—,--_” e 4‘_/‘\ - \ R 1
Izl___—- - \\\ —
i \1? i
| —0.5
......... I T N T AN T S T N N TR TR TR TR E T T SR
50 100 15 200

Jet mass [GeV]



	Contents
	Page 1


